Directions (1-25): What should.
of question mark (7) inthe following questions?

come on place  (¢) None of these
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(© Noneof hese o ar
7. (656+164)' =7 2 i
@4 ®16 (€ None of these
@256 17, 56% of150-56=7
(&) None of hese @2 ®)28
8. 974710-143=4x7 oo o2
(©) None of these
@ 166 () 664 )
o R 1062 =47
(e) None of these @3 ®3
9. 36% of250 x 18% of S0 =7+ 10 @81 @27
(@ 820 810 (@) None of these.
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(€) None of these.
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I the total cost of four tube lights and three
bulbs is € 260 and the ratio between the cost of
atube light and a bulb s 522 respectively. What
is hcmu!cnxm[oncmhahghnnduxbulhs"

@z

@ 150 (d» i

(€) None ofthese.
7.

=3
(b) 24 years
()36 years

(@) 30 years

29. The compound interest accrued on 4 sum of
7500 in two yearsis 927, What would be the
e o ierspcpa
@5, ®) 8%
Pt
€)%

30. Sohan spends 23% of an amount of money on
an insurance policy, 33% on food, 19% on
children's education and 16% on recreation. He
deposits the remaining amount of¥ 504 in bank.
How much total amount did he spend on food

and insurance policy together?
@23200 (®) 23126
(©23 (@304

(€) None of thes
31 What las umbershod b subacied from
oot sare mumber?
e (v) 8
(© 108
(€) None of these.
32.In how many iffient wayscan the leers of

A

ctrials FOVERS be wnged?
B O @360
(©) None of these

33. Five- ninth of sxty two percent. o s s

equal 1o 2790. What s the tumbe
@) 8100 ) 7200
(96300 (@ 8500

(€) None of these.
34, The difference between the circumfercnces of
two circles is 132 cm and the radius of smaller
giclei 4. Whatis th i ofrgercice?
(@ l4a
©30em
(€) None of these:
35.1n a test, minimum passing percentage for
reserved and unceserved category is 40% and

2len

(@ 42em

mumber. I the sum of these two satn s,
“Then what s the value ofte rals b
(@38

(©48

(© Nomeof these

%

o

ategory secured 300 marks and faled by 34
marks. What are the minimum passing marks
for reserved category in that test 7

50 (0) 254
(@240

R a
v,,.y i5 72 years. Also the sum of the present

Ram and Shyam is 42 years, Whatis the
i of Vijay?

36. sauﬂbhx invested € 16,840 at 6% for § years.
Y much amount will she receive including
umplz interest in $ years 2



@7 20984

(©F 20,584

(&) None of these:
verage age of 60 boys of a class was

caleulated 10 be 12 years on rechecking it was

fotice that the age of one boy was wrongly

()% 20,764
@2 21,892

taken as 14 years instead of the correct one of

12.5 years. The carrect avera

@1

® 11275
s @197
(©)None afthese
What spproximse value should come in plce
of ueston mark 1) inhe ol qustion

&

@72
(b) 56

(d) Cannot be determined
(€) None of these

44, Sushil runs consistently 4k everyday. He runs
one kilometer more on Saturday and Sunday.
How many kilometers in all does he run in 2

@40km ) 60km
[CEU (@) 70 km.
) None of thes

45. Ratio of internal angle of a triangle is 19:10:7.
Find sum of twice the smallest angle and largest

A angle.
Gaas (@ 165" () 185
43031 (c) 155 @ 175"
(e) None of these.
39. Birjo, Bankim and Boni a4t the same me-in 46, 1 how many ways letérs of the word TABLE'
the same direction o un amoundacirelar adium. e yrang,
“They compcte theiround in 36, 48;and 3second. (3 360 ® 720
respectively, all i ot the same point. Afler (o) @180
what time il hey meet again at stating point. {©) None of these
(@) 1008 second. (5) 956 second Direction (47-49) : What should come in place.
©848second  (d) 1356 second of the question mark () in the following
(©) None of these pladymateriainaiions.
40. Find the avrege of the folowing set of cores T
746, 1020, 321, 12, 63, 428, 226, 144 @178 ) 188
@367.5 ©158 @ 186
(©360 (@36875 (©) None of these
(o) None of thes 4811 16 26 41 61 ?
41, 846 times 323 is equal to @68 ® 72
(@) 280872 () 276488 ©78 @ 86
(0273258 (@272412 (©) None of these
© None o these . .15 145 144 136 120 2
42. A canteen requires 28 kg of sugar in one week. @8 (®) 86
How much sugar wil it require in March and (¢) 88 @8
April? (€) None of these
(@) 248k 50, Yesterday aman travelled 360 kmin 8 hrs Find
() 240k distnce travelled in 10kes with 13 of formes
(0)250kg
(d) Cannot be determined (@ 150km (® 160km
(¢) None of these (€) 140 km (@130 km
a s of & two digit number is 15 (©) None of these.

Diffrsos aFtigin 1 3. Find produer of both
digits.
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